2 1

REVISIONS
PLIES i K .
g AR REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
05 - 06/2013 - = REMOVED ACRYLIC GLAZING OPTION.
P
%IE?\LAIAO%%DLEEZQAOLZ ’ P Y 06 = 08/2016 - - REMOVED WIND SPEED TABLE.
UP TO 22’-2" WIDE X 18°-0° HIGH 07 = 02/2022 — - REVISED FOR TDI

ALUMINUM FULL VISION WINDOW LITES,
SINGLE PANE OR INSULATED. ALL PANES

THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE

3" TALL x 20 GA. GALV. STEEL (MIN YIELD STRENGTH

50KSI) U-BAR. ONE AT THE TOP OF EACH SECTION EACH
HORIZONTAL TRACK SUPPORT BY

1/8"x1" LONG

FILLET WELD (EBOXX
ELECTRODE MIN.). WELD
TO BE LOCATED VERTICALLY
ON ANGLE AT 24"
CENTER AND 1/4" T

SAME SPACING. DIRECTLY TO

12 GA. GALV. REVERSE

OR CONTINUQUS ANGLE
WELD TOE OF mGLE &T MOUNT TRACK F NED

STEEL JAMB

COR-LOVLY CENTER HINGE OF 16 GA. GALV,
STEEL, ATTACHED TO INTER. BOTTOM RAIL
WITH (2> #14 x 5/8° SHT MTL SCREWS AND
TWO INTER, TOP RAIL WITH (2) 1/4 - 20 x
1/72° HEX HEAD MACHINE SCREWS & NUTS

SECTION 2 — 2

3* STEEL LONG
PUSH NUT STEM ROLLER

REINFORCING FIN ON INTER, TOP
RAILS ANGLE CUT AT END STILES

SECTION 4 - 4

2,000 PSI MIN

CONCRETE

3/8° DA x 1-1/2°

MIN. EMBED SLEEVE ANCHOR

CONCRETE JAMBS |

2,000 PS| MIN
CONCRETE

STEEL JAMBS

3/16° MIN. STEEL
JAMB

| WOOD JAMBS

3/8" x 1-1/2" MIN.
EMBED LAG

SCREW. WASHER
REQ'D. 20° MAX.
0.C. TO SECURE

6" TALL C—CHANNEL
16 GA. GALV. STEEL
MIN YIELD STRENGTH SOKSI

BOTTOM SECTION REINFORCED WITH A TEMPERED
ALUMINUM EXTRUSION WITH INTEGRAL RETAINER FOR

FLEXIBLE VINYL ASTRAGAL

THE DESIGN OF THE

SUPPORTING STRUCTURAL
ELEMENTS IS THE RESPONSIBILITY

DESIGN ENGINEER: MARK WESTERFIELD, P.E.

IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS ANNEALED GLASS OR STRONGER. SINGLE U—BAR ATTACHED WITH (2) 1/4"x3/4" SELF TAPPING
O0R USRS DD REGIONS (REF. CHAPTER 16_FBC/IBC) ” SCREWS PER STILE LOCATION.
- : PANES 3" OR THICKER. INSULATED WINDOWS
THICK, CONSISTING OF (2) PANES &” 12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH BRACKET
" GALV. TAPERED STEEL TRACK AND ANGLE, U—-BAR SEE SECTION ” _ » ATTACHED W/(4) #14x5/8" SHEET METAL SCREWS.
TRACK THICKNESS: .101". ANGLE THICKNESS: .0BO" 1-1 FOR DETALS \ THICK. MAXIMUM DLO 33" X 21 3/ 4~ ADJUSTABLE SLIDE ATTACHED TO TOP BRACKET WITH QTY
VERTICAL/HORIZONTAL TRACK 14~ MAXIMUM SPACING B (2) 1/4 X 1/2" BOLTS & NUTS PER BRACKET. TWO
- JUNCTION. TWO 1/4* BOLTS |—— FROM LAST MOUNTING = | I | BRACKETS PER SIDE
& & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION 1 C—CHANNEL SEE SECTION
g '“‘\ 1-1 FOR DETAILS .
~ ADDITIONAL MOUNTING SLOTS REQUIRED FOR DOORS STRAPS ATTACHED WITH (3) 1/4" X3/4" SELF
g 1l OVER 7'0" HIGH SPACED AT 12° CENTERS. 'I%J:Ung)tflli.g N NS ~ N & NI S N N TAPPING SCREWS (TWO SCREWS TO DOOR, ONE
TRACK CONFIGURATION H SCREW TO C—CHANNEL). SEE REAR ELEVATION
! BRACKETS N FOR PLACEMENT.
g Al O_IP_iE K'HT':‘AO%(NT?'?LT AND NUT N oy 3 ] \ N\ N NS N -
5 s e o T~ X R FUL SN SECTONS 10—
o  HI- i vl 2 2 \ ,
z _| ¥ FOLLOW-THE-ROOF TRACK,
& DOOR | =~ AND VERTICAL LIFT TRACK ARE N h N & Sh e Dl
3 HEIGHT AVAILABLE OPTIONS. 3" TRACK R R X 1ER) N R N R N R 3 . .
80" | BE"| ASO AMUBLE MAX. HEIGHT: | & 8"x2-1/4"x12 GA. GALV. STEEL PLATE. C
" g 180" k Y SEE VIEW "E".
| 9 —0 {100 TWO POINT AL A L D NS N\
M“’l" 2 110'=0"]|112 LOCKING —— = ﬁ \:
12""0" 136h REQ'D. \ N\ ! \ N DOUBLE END ROLLER #14x5/8 SHEET METAL
' [14-0"]160" HINGES OF 14 GA MIN S SORENS aTY_(4) ALONG
15'=0" 172" GALV STEEL, FASTENED AS
T SHOWN IN VIEW A.
Ls-2r[16'=071184" ——— 9 STRAPS PER SECTION
17°=07198" | AS SHOWN 3 3
——e=D 3" ROLLER CARRIER —Y s 00 JA_GA.MLE
18 —01208 PART # 0120394 ..__..| 22+ TYP I \ END HINGES
su-:uy %%Tuﬁg Hsgggwg / L e LA ”I ONE 6" TALL, 16 GA. C—CHANNEL v v
., |NUMBER OF ) ————Fp \ f ) . C- X
DOOR HEIGHT A’ f'ornrinng ekt I\::(QJTEER STILES ALWAYS 22" ANELI BOTIOM SEETos : ?5?&%%5 ggg'g’:béll«)s SCREW e o) N
UP O 6'-0° 4 FROM CENTER TO CENTER. CAN BE .050" THICK SMOOTH PER END STILE AND BACKER SORs B e HaE
@-3* THRU 10°-0° | S FOR ANY GIVEN DOOR AT THE CENTER OF EACH C—CHANNEL ALUMINUM: PLATE LOCATION. (SEE VIEW D)
10'-3" THRU 120" 6 WIDTH, DIMENSION 'B' THIS ATTACH THREE 6°x2—1/4"x12 GA. STEEL
18-S THRU 140 7 DIMENSION WILL NOT BE PLATE TO THE UNDERSIDE OF THE THE VIEW A"
14'-3" THRU 16°-0 8 GREATER THAN 23" OR C—CHANNEL WITH (4) 1/4°x3/4" SELF
16'-3" THRU 18'-0 9 ece. i has TAPPING SCREWS.
MAX. SECTION HEIGHT: 24" MEW ET
DOOR IS MADE
END STILES FASTENED TO OF 6063-T5 ALUMINUM EXTRUSIONS.
RAILS WITH FULL LENGTH THICKNESS:
CENTER STILES FASTENED T0 RALLS S/16° STEEL RODS AND OTTOM_RAILS —-075 CKET OF 12 GA. GALV. STEEL
3/16% MIN MAY BE BACK- pECACENGTRRD 1G] SIEEL: FLANGE NUTS P 4, BOTIOM RALS —.075 BOTTOM ROLLER BRA 2 GA. GALV. .
ST/'EEL JAMB FILLED WITH ERES AEDNAEANEE IO OR-LOVLY CENTER HINGES ON 875" FIN FASTENED WITH (4) #14 X 5/8" SHT MTL SCREWS
CONCRETE, BUT EVERY DTHER STILE STARTING INTER- opsﬁ?'('&w N sTies gi*,g
NOT REQUIRED. WITH CENTER OF DOOR. VIEW "(EENTER 54|LE5 oaa

S FLORIDA P.E. §48485, NC P.E. §23832, TEXAS P.E. 91513 muuracrumuq RODUCT, cnnE-
BOLT. WASHER INCL'D. 1/471-1/2" MAY BE BACK-FILLED 1453747 LS. Ll OF THE BUILDING ENGINEER OR DESIGN LOADS: +30 & —30 P.SF. E 1F49
117 MAX. O.C. MIN. EVBED TAPCON | WITH CONCRETE, BUT SoREae ;‘I’m"}c“ﬁ;z ARCHITECT OF RECORD. TEST LOADS _ +45 & -45 PSF.
o o ot OWAGHER REGD. | SELY TABPING -ScEw, 16" MAX. O.C. ~1/8" DIA WASHER REQ'D. Unless Stated Otherwise - 8585 Duke Boulevard CLOPAY VINDLI:IAD RATING
= CNCE e S vy S TOLERANCES ore oOpay i Syt WO
SECI
/ TO CONCRETE. STECLISANE agwuouskmcm 0 = +.031 CORF’ORA Fa: No 513-770-4853
CONTINUOQUS ANGLE AC — Yy
TRAC TO 2x6 §2 .00 = +.015 : M/N 902, C2AL, 22’2" WIDE DES. +30/-30 PSF
el L ot CLOPAY CORP. Bog - oy Be=RIETION /
YELLOW PINE JAMB_ WITH FINE: JAND IR, OOt ALL RIGHTS RESERVED. 0000 = +.001 |DRAWN BY: BFA DATE: 11/12/04 SCALE: NONE DWG
D S ol AL e R gl S Degrees = +1/2 T 1 OF 1 [SIZE
ANGLE = N = . —
CLIP LOCATION. FASTENED. ,_PT'EE”L' e L TRACK CLP Third Angle [ CHECKED BY: DATE: SHEE
' ERENs Projection DIMENSIONS ARE N NGHES.|DWG. NO.: 103324 VER: DI

4

2




